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Q Response Review

Student ID/Username:

stum2013024280

College:

Grade9

Exam:

2022-2021 - Wl Juodll dlgi olxiol - elyjus..

UNITED ARAB EMIRATE!
MINISTRY OF EDUCATION

Bl 2 ya I Sl yLa ¥
ety Ay 33,05

Full Name: Group/CRN:
wle Chwgy cloV lamek yousef ali $PC-6024-G9-ADV-1 (823133)
Course Name:

G9ADV.PHY - Physics G9ADV

Activity Type: Time Spent:

Final 79 mins, 14 secs

Delivery Method:

Digital

Area/Branch Name:

THE SCIENTIFIC INSTITUTE BOYS FOR SE...

Total Marks:

120/125



Q.1: Force and motion Mark(s): 5/5

Two dogs are pulling a sled carrying food packages. One dog pulls with a force of 40 N and the other pulls with a force
of 60N as shown in the figure. The total mass of the sled and the packages is 50 kg. What is the acceleration the sled?

ol gaall 5 AnY 1 AN AVKY JSEN (8 rean e 58 LS GON 858 conass JAY) 5 40N 558 oy Gl aal alada <l e Jasd A8 ) s QLIS
faY )l dae L 50kg

40 N 60N
Learning Outcomes Covered -
o PHY.6.1.01.015
o PHY.6.1.01.016
o PHY.6.1.01.019
o PHY.6.1.02.005
o PHY.6.1.02.007
o o .. 1
] 1
a. | -
] 2 1
' 2.0 m/s '
i i
[ ] 1
o T T T T T T T T L L L L L L L L L L L L L R L L L L L L L L L L L L L e e T o
b.
0.5 m/s?
c.
1.2 m/s?




0.4 m/s?




Q.2: Forces in one dimensions Mark(s): 5/5

The figure shows a suitcase on the airport cart. According to Newton’s third law, which of the following is an interaction
pair?

fdaliie 5ili g5 o hilaa gl ¢ A g o lal Gy el 4 e o jin dpis JS8l)

Learning Outcomes Covered

o PHY.6.1.02.004

b. | F Earth's mass on suitcase> F' Earth's mass on cart
Fa—.‘:‘gﬂ‘é;u."‘)y‘maa{)ﬁj\écub'

.| F cart on suitcase> I Earth's mass on cart
F i e (o i, Fagan e

d. F suitcase on cart> I cart on Earth's mass

F (o 4 e 4 ,a, F a0 e

al)



oo alall 130 Jaasi i
4hle)ll Zoliall 2950

alManahj.com/ae



Q.3: Force and motion

What is the weight of a mass15 kg box?

Learning Outcomes Covered

PHY.6.1.01.015
PHY.6.1.01.016
PHY.6.1.01.019
PHY.6.1.02.005
PHY.6.1.02.007

O 0O O O O

A Zaby ) Sty Sl Com a3 Las ()

You may use any of the given constants and equations where needed:

g=-9.8m/s?

A, = Acos8

A, = Asins@

0.65N

Mark(s): 5/5

£15kg S (3 g3ia 55 9 Lo



248N
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Q.4: Forces in one dimensions

Mark(s): 5/5

A football interacts with Earth. The ball exerts a force on Earth and Earth exerts a force on the ball. Which of the following is true
about these two forces?

€0 il il Ailly memia b Las ol 58 (A o Lagia S 538 (Al (55 05 () 58 G (a )0 (a Y] g a2 5 S Jelin

b.

C.

Learning Outcomes Covered

o PHY.6.1.02.004

The two forces are equal and in the same direction

Earth exerts a larger force

1
ALY 8 JiSlaia 5 lall 3 (i ghasia 1% gl

olatY) i Lagd 5 il & i gluiia gl

JERS NS TR



The ball exerts a larger force

S Qg i s

id




Q.5: Displacement and forces in two dimensions Mark(s): 5/5

A vector D 1s shown in the figure. What are the components of D?
D 4niall U jo lea Lo D 4nie JSE a

Learning Outcomes Covered

PHY.6.1.01.015
PHY.6.1.01.016
PHY.6.1.02.005
PHY.6.1.02.007

O O O O

a.! E
: D,=4m, Dy=0 :
b.
D=0, Dy=4m
C.



D,=4m, Dy= - 4m

Q.6: Force and motion Mark(s): 5/5

Which of the following is a field force?
edlAA ) Jﬁ ) ‘fwi,g Laa Lﬁi

Learning Outcomes Covered -

PHY.6.1.01.015
PHY.6.1.01.016
PHY.6.1.01.019
PHY.6.1.02.005
PHY.6.1.02.007

O 0O O O O

b. Tension force

c.. Normal force

sl

d.| Friction force




Q.7: Forces in one dimention Mark(s): 5/5

A skydiver of weight 700 N falls with the terminal speed after opening his parachute. What is the drag force acting on the
skydiver?

el o b yigall dnmall 3 58 oo Lo aillas pei8 day dpaall e yudly Jatsy 700N 455 llas

b.
700 N Down
C.
1400 N Up
d.
Zero




Q.8: Force and motion Mark(s): 5/5

Which law states that the acceleration of an object is proportional to the net force and inversely proportional to the mass of
the object being accelerated?

o jlusiall anead) AS aa GaSe Lt ity o dleanall 3 68l aalo yha Lol oty aneall & 5l o b A el e L
) &e 29 &L 2 o g ol gl el oA

Learning Outcomes Covered

PHY.6.1.01.015
PHY.6.1.01.016
PHY.6.1.01.019
PHY.6.1.02.005
PHY.6.1.02.007

O 0O O O O

b. Newton’s first law
L):;}:.‘-‘l d}‘}l\ ( 4

c.| Newton’s Third law
gl SN &l

d. Law of inertia
gs_a“\ll\ Jpadll o 5ild



Q.9: Displacement and motion in two dimension Mark(s): 5/5

Ahmed is pushing a wooden box with weight of 500 N across a wooden floor at a constant speed. He exerts a force of 200 N on

the box. What is the coefficient of kinetic friction between the box and the floor?

O Soal AKia Y Jalzs 52 Le (3 sanall e DOON L ylaie 55y i 1S 106 25006 de yuw 4puiia A ) e 500N 4335 Ladid B saiin daal ady
?u.a ‘);Y\ K é }JMS\

Learning Outcomes Covered

o PHY.6.1.01.015
o PHY.6.1.01.016
o PHY.6.1.02.005
o PHY.6.1.02.007

a.l
; 0.4

b.
2.5

C.

0.01



0.04
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Q.10: Displacement and forces in two dimensions

The figure shows three vectors L, M and N. Which of the following is true for the vectors?

Learning Outcomes Covered -

o PHY.6.1.01.015

Mark(s): 0/5

flgaiall Lol nia bles 6l N s M 5 L ilgaie 436 JSAl mia g

N+M =L
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Q.11: Force and motion Mark(s): 5/5

A car has a mass of 1600 kg. What is the acceleration produced by a net force of 400 N acting on the car?
€kl e 400N W )ik dhanse s 8 55 e @il g jludl) laie Le 1600kg Ll & )l

A Tl SEBkally Culgih (e ik Las Gl
You may use any of the given constants and equations where needed:

g=—-9.8m/s®

A, = AcosB
F,=mg
A, = Asins@
_ F"-EE'
“= m Fi = pFy
Learning Outcomes Covered
o PHY.6.1.01.015
o PHY.6.1.01.016
o PHY.6.1.01.019
o PHY.6.1.02.005
o PHY.6.1.02.007
o o .. 1
] 1
a.; .
] 1
' 0.25 m/s? '
] 1
: !
b.
4 m/s?
C.

2.4 m/s?



5.6 m/s?




Q.12: Force and motion Mark(s): 5/5

A man with weight 650 N is standing on a scale in an elevator. The elevator is going up with a constant speed. Which of
the following is a correct reading of the scale?

?Q\M@Ms;\ﬁ@@;mgi ALGde o oY) ) anay aadll Aras O e e Caly 650N 435 da )

A sl SENly Sulpill e adl s Gl
You may use any of the given constants and equations where needed:

g=-9.8m/s?

A, = Acos8
F,=mg
A, = Asins@
Learning Outcomes Covered
o PHY.6.1.01.015
o PHY.6.1.01.016
o PHY.6.1.01.019
o PHY.6.1.02.005
o PHY.6.1.02.007
e L oo e SEEE R b e e e ) oo o e Bkl P e CEEEEE L EEEL LT LT ELELETEEELEETELEELEETEEEELEEEELETEEEE P T 1
(] ]
a. E E
' 650 N '
i i
(] ]
[ o o o R N N N N R R N N N N S S S S S S S S S S S S S N N N N N N N N N N N N N N N N N N N N SN N N N N SN N N N N SN SN N N N S SN SN N N N S SN SN N N N SN SN N N N RN SN R R N NN NN RN R R RN SN RN RN R R S S R R R ol
b.
S20N
c.

730 N



Zero
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Q.13: Displacement and forces in two dimensions Mark(s): 5/5

What is the net force acting on the block shown in the figure?
¢ UL Adl) AESH e 5 ji5al (g il Alana b Lo

15N

10N 10N

Learning Outcomes Covered

o PHY.6.1.01.015

a.! :

8 N up ; E

: =Y G oN;
b.

8 N down )

JaY) A ol

C.

Zero ;

| oa




hON right

Ol (N 2004




Q.14: Displacement and forces in two dimensions

Salem walks 60m east then he walks 80m south. What is the magnitude of his resultant displacement?

A, = Acos@ v, = v;cost
F,=mg
A, = Asinsé Vy; = v;Sind
o = Fnet - - F.=uFu
Learning Outcomes Covered
o PHY.6.1.01.015
o PHY.6.1.02.007
e I o T e e o N N N N RN RN RSN e .
1
a.i
1
; 100 m
i
1
e T T T T e e T e e e e e T T T P T e T e T L T T T Ty
b.
20 m
c.

Mark(s): 5/5

aliasall dal 3y e Lo G sin 80m (osiar o3 By 60m Al ey

A dpaaly ) clElally ol Ga adly Lay (el
You may use any of the given constants and equations where needed:

a,=g=-9.8m/s?

140 m




0Om
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Q.15: Displacement and forces in two dimensions Mark(s): 5/5

Which of the following is true about friction forces?
CASIAY) (5 58 dpnilly Anpnia 4000 ol jlaad) (6

Learning Outcomes Covered

o PHY.6.1.01.015

saalaiall (5 8l e Ay gac Laily () 4S5 SliaY) (5 8

b. The friction forces are always parallel to the normal force )
Blalatiall (o 58l 4 9 g Ladla o) S5 SKHAY) 8

c.. The friction forces are always opposite to the normal force )
saalaiall (g all (puSlay ool 8 Laila ()55 AASIRY) 8

d.| The friction forces are always equal to the normal force )
saalaiall (g gall 2 glose Ladla ) oS3 SMSEaY) 48



Q.16: Displacement and forces in two dimensions Mark(s): 5/5

A vector R =20 N makes angle of 60° with the negative X axis as shown in the figure. What is the x component of R?
fR 4l X A4S o o8 Lo JSEA) 8 min ga o LS Qi) X ) saall 2 60° 4u5) ) gy R = 20 N 4siall

Learning Outcomes Covered

o PHY.6.1.01.015
o PHY.6.1.01.016
o PHY.6.1.02.007

al :
: R,=-10N :
b.
R,=10N
C.

Rx=-17.3 N



Ry=173N
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Q.17: Force and Motion Mark(s): 5/5

The figure shows two forces acting on a motorbike, 650 N Forward and 250 N backward. What is the net force acting on the
motorbike?

¢4l da Ll e 8 sl Alanall 5581 o Lo GlaD) Y 250N 5 oledl ) 650N « Al a5 o ol i ¢yt 8 JSA eaia

Al dpdabyl) SEAAy Culsill Ga il L Catd
Learning Outcomes Covered

o PHY.6.1.01.015

o PHY.6.1.01.016

o PHY.6.1.01.019

o PHY.6.1.02.005

o PHY.6.1.02.007
I ™ H
a.! 400 N forward '
i Yl e N
i '
L} 1
B o o o o e e e N N SN R N BN RN SN BN N SN BN N SN BN N SN RN SN BN RN SN BN N SN BN SN SN BN SN BN BN SN BN N SN BN SN BN BN SN BN RN SN BN N SN BN SN SN SN SN SN R SN SN N SN BN SN SN SN SN BN S SN SN SN SN SN SN SN N SN BN S SN SN N SN BN SN SN S SN BN N SN SN N SN SN SN SN N SN BN N SN BN SN SN BN SN BN SN BN BN SN BN BN SN AN o

b. 400 N backward

sl Js N

c.| 900 N forward ‘
¥ A €N



900N backward

alall ) ¢

N




Q.18: Force and motion Mark(s): 5/5

A net force of 30.0 N accelerates a block at 6.0 m/s%. What is the mass of the block?
SALSN ke 8 La, 6.0m/s? o_lie Lol LgausSit ABS e 30,0N Lalaie dliasa s 58 %

PR Al ) Sty Culs e il ey Gl

You may use any of the given constanis and equations where needed:

g=-9.8m/s"

A, = Acos@
F,=mg
A, = Asinsf
_ Fuet
ar m Fp=pFy
Learning Outcomes Covered
o PHY.6.1.01.015
o PHY.6.1.01.016
o PHY.6.1.01.019
o PHY.6.1.02.005
o PHY.6.1.02.007
o o .. 1
] 1
a. E E
: S kg :
] 1
(] 1
[ ] 1
T T T L T L L L L L L L L L L L L L P L L L L L L L L L L L L L L L L e e e T o
b.
0.2 kg
c.



180 kg

Q.19: Displacement and forces in two dimensions Mark(s): 5/5

Which of the following is the force exerted from one surface on another when there is no motion between the two surfaces?

Copndaudl S a g gate Ala b Al xh e s o i 380 4 Sl Lae

Learning Outcomes Covered

o PHY.6.1.02.005

a.! Static friction i
: Sl iy 8

b.| Kinetic friction
Soall dlKiay g

c.. Normal force

:Q.J}Aaj‘ < ﬁ\

d. Tension




Q.20: Displacement and forces in two dimensions Mark(s): 5/5

A friction force of 10 N is acting on a block moving on a horizontal rough surface as shown in the figure. If the coefficient of
kinetic friction between the block and the surface is 0.2, what is the weight of the block ?

el 5 ALK G S oal) @AY Jalae S 13) JSEIL a0 9 LS a8 mdass e @ )i dBS e (TON) W laie @llSial) 3 8 i

Fn

Learning Outcomes Covered -

PHY.6.1.01.015
PHY.6.1.01.016
PHY.6.1.01.019
PHY.6.1.02.005
PHY.6.1.02.007

O 0O O O O

al E
: 50N ]
b.
10N
C.
0.02N




2N
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Q.21: Displacement and forces in two dimensions Mark(s): 5/5

The figure shows two force vectors F, and Fg. Which of the following vectors represents the equilibrant for the two vectors?
foneaiall 315 58 Sy A5V Cleaiall Go 5| Fg 5 Fy 558 seatie S e sy

P







Q.22: Force and motion Mark(s): 5/5

The graph shows the relationship between the force F acting on a cart and its acceleration a. What is the mass of the cart m?

fm Ll RS o Lo g & pell gl i e 5 555l 5l (o 283Mall il s ) e s

-8

w

M

eleration (m/s?)

Learning Outcomes Covered -

o PHY.6.1.01.015
o PHY.6.1.01.016
o PHY.6.1.01.019
o PHY.6.1.02.005
o PHY.6.1.02.007
I . e e e e e e R e N e e e e e e e e e e e e e e s e e e e e e e e e e e s e s e e s e s e e e s e e s e e e e s e e e e 1
(] ]
a.i E
; 4.0 kg '
i i
] ]
[ o o o o N N N N N R N S N S N N S S S S N S N S S N S S N N N N N N S N N S N S N N SN S S S N SN N N N S SN SN S N N S SN SN S N N SN SN SN N N SN SN SN N N N NN SN RN N N NN RN NN N N SN SN SN RN RN R SN SN R R R o
b.
0.25 kg
C.
8.0 kg




0.5 kg




Q.23: Displacement and forces in two dimension

Mark(s): 5/5

The graph shows the relationship between the friction force and the normal force acting on a block moving on a rough floor. What
does the slope of the line equal?

€ aieal) adll Jse (5 gl 13 B3R Baca ) o @ ati ALS e 5 i3all Aud sanll 5 il 5 ASIaY) 5 8y A8 ) aos ) e s

b.

C.

Learning Outcomes Covered

o PHY.6.1.02.005

The mass of the block

The acceleration of the block

Friction (N)




d.| The weight of the block

AL -
Q.24: Displacement and forces in two dimensions Mark(s): 5/5

Which of the following objects is not in equilibrium?
o3 Al 8 Q) AN Sla (e

Learning Outcomes Covered

o PHY.6.1.02.005
o PHY.6.1.02.007

el o g L R R A -
1 . . . 1
a.! A car moving in a constant acceleration .
: Culi e iy &l At :
1 3 &J . ¢ b
' '
1 1
L T T e T T e e T T e T e e e e e T T T T e T T T T T T Ty o

b.| A book at rest on a table
Aol e oSulldlla 3

c.| A box resting on an incline surface

df’t-“cj‘“«sj‘;,)ﬁmé; <

d. A train moving with a constant velocity

B

Bl e yun & an,



Q.25: Displacement and forces in two dimensions Mark(s): 5/5

A suitcase is at rest on an inclined plane as shown in the figure. Which of the following is true?

Somnaa b Lae (gl (JSAN L8 min e o LS Jile (5 sinn o ASLa i dyia

Learning Outcomes Covered

o PHY.6.1.01.015
o PHY.6.1.01.016
o PHY.6.1.02.005
o PHY.6.1.02.007

a.l i
; Fs =-Fgsine ;
b.
FN == Fg
C.



Fn=- Fgsine




